
8027
8027F8027N



  445    220    230    168  

  140  

  4
9

  

  256  

2

E
1

1

E
L
E
M
E
N
T

N
R

8
0
2
7
 
N

E
2

E
3

11

E
4

E
5

E
6

12



  
1

6
0

  
  
1

8
0

  

  
2

7
2

  

  
1

7
0

  
  
1

9
0

  

E11

E7 4

ELEMENTNR 8027 N

E8

E9

2

2

E10

1

E12

2

1



  74  

  
1

1
9

  

  66  

  74  

  
1

0
8

  

  20°  

  128  

  74  

  
9

0
  

  
1

3
3

  

  109  

2

E13 1

ELEMENTNR 8027 N

E14

E15

1

1

E16

E17

E18

1

1



1

E19 1

ELEMENTNR 8027 N

E20

E21

1

1

E22

E23 1

E24 1

  49  

  70  

  
1

4
7

  

  78  

  
1

6
4

  



  70  

  
1

2
3

  

  70  

  
1

4
0

  

  
1

2
3

  

  70  

  
1

4
0

  

  70  

  78  

  
1

6
4

  
  
1

4
7

  

  70  

1

E25 2

ELEMENTNR 8027 N

E26

E27

1

1

E28

E29

E30

1

1



E36

E31 2

ELEMENTNR 8027 N

E32

E33

1

1

E34

E35

15

2

1

  
5

9
  

  35  

  
3

3
  

  59  

  10°  

  54  

  
3

3
  

  56  



NR

E37 1

ELEMENT 8027 N



2

E
1

1

E
L
E
M
E
N
T

N
R

8
0
2
7
 
F

E
2

E
3

11

E
4

E
5

E
6

12

  140  

  230    220    445  

  202  

  4
9

  

  119  



1

E7 4

ELEMENTNR 8027 F

E8

E9

2

2

E10

E11

E12

2

1

  
1

9
0

  
  
1

7
0

  
  
1

6
0

  
  
1

8
0

  

  
2

1
7

  



  
1

3
3

  

  109  

  74  

  
1

1
9

  

  74  

  
9

0
  

  20°  

  128  

  74  

  
1

0
8

  

  66  

8027 F

E13 1

ELEMENTNR

2

E14

E15

1

1

E16

E17

E18

1

1



E23

E19 1

ELEMENTNR 8027 F

E20

E21

1

1

E22

1

E24

1

1

  49  

  70  

  
1

4
7

  

  78  

  
1

6
4

  



1

E25 2

ELEMENTNR 8027 F

1

E27

1E26

E28

E29

E30

1

1

  
1

4
7

  

  70  

  78  

  
1

6
4

  
  
1

4
0

  

  70  

  
1

2
3

  

  70  

  70  

  
1

2
3

  

  70  

  
1

4
0

  



E32

E31 2

ELEMENTNR 8027 F

E36

E33

1

1

E34

E35

14

2

1

  
5

9
  

  35  

  
3

3
  

  59  

  10°  

  54  

  
3

3
  

  56  

  
1
5

  

  8
0
°  



8027 F

E37 1

ELEMENTNR

E38 1

  
1

5
  



8027 N 8027 F

Nr Element Ʃ

1 - S6x60 297

2 - W6x60 286

3 - K2_d30_B 1

4 DIN 125 10x20 6

14 ISO 7380 M6x12 4

21 DIN 125 8x16 29

22 DIN 125 6x12 20

24 ISO 7380 M6x16 16

26 - S4x40 30

29 -
K_5_A2_g2_

G_v2
12

43 DIN 1587 M8 4

57 DIN 1587 M10 6

58 - LOCTITE 1

81 ISO 7380 M10x35 6

84 ISO 7380 M8x35 4

88 - ALUZ RR 2

Nr Element Ʃ

1 - S6x60 297

2 - W6x60 286

3 - K2_d30_B 1

4 DIN 125 10x20 6

14 ISO 7380 M6x12 4

21 DIN 125 8x16 33

22 DIN 125 6x12 24

24 ISO 7380 M6x16 20

26 - S4x40 30

29 -
K_5_A2_g2_

G_v2
12

43 DIN 1587 M8 4

57 DIN 1587 M10 6

58 - LOCTITE 1

61 - KL105 132

81 ISO 7380 M10x35 6

84 ISO 7380 M8x35 4

88 - ALUZ RR 2

  
3

  



8027 N 8027 F

Nr Element Ʃ

109 DIN 913 10x10 8

115 - Aluz PD 6

147 - M6x10 20

149 - ALUZ SD 4

181 -
F80X_6_PE_

g15
15

213 - Z_NA_1 1

214 - Z_NA_2 1

Nr Element Ʃ

109 DIN 913 10x10 8

115 - Aluz PD 6

121 -
7100_5_A2_

g3_G_v1
2

147 - M6x10 24

149 - ALUZ SD 4

181 -
F80X_6_PE_

g15
15

213 - Z_NA_1 1

214 - Z_NA_2 1



8027N

E7

E1

E2

E6

E7

E9

E11

E12

E10

E13

E16

E20

E21

E25

E28

E27

E31

E33

E8

E26

E34

E36

E4

E15

E3

E14

E17

E18

E19

E35

E23

E24

E29

E30

E32

E5

E22



8027F

E7

E1

E2

E6

E7

E9

E11

E12

E10

E13

E16

E20

E21

E25

E28

E27

E31

E33

E8

E26

E34

E5

E4

E15

E3

E14

E17

E18

E19

E35

E23

E24

E29

E30

E32

E36

E37

E22



 H
=

..
. 

2

1 8027F
8027N

8027N
8027N

INST_80_44A

INST_80_126

INST_80_6

INST_80_146

INST_80_136

INST_80_128INST_80_127

INST_80_137

H108 H77 H108 H140H117

"0"



4

3 8027F
8027N

8027N
8027F

INST_80_129

INST_80_138

INST_80_140



6

5 8027F
8027N

8027N
8027F

INST_80_23

INST_80_24

INST_80_133

INST_80_131

INST_80_139

INST_80_132

INST_80_38



7
8027N
8027F

INST_80_135

INST_80_134

INST_Z_3



  150  

  
1

5
0

  

  616  

  150  

  315  

  
8

9
4

  

  1
50  

  
1

2
4

4
  

  100  

  150  

  150  

  150  

  100  

  150  

  
2

0
0

  

  150  

  150  

  150  

8027N
8027F



  460  

  5  

  5  

  9  

  460    60  

  9  

8
0

2
7

N

8
0

2
7

F

"0
"

"0
"



  8
2

  

  40    40  

  40  

  40  

  20  

  8
8

  

  40  

  40    40    82  

  4
0

  

  207    70    70  

  40  

  30    30    131    70    70    95    169  

  1
0

9
  

  2
2

7
  

  8
2

  

8
0

2
7

N

  30  

  3
0
  

  30  

  3
0
  

  150  

  150  

  150  

  150  



  207    46    55    18    46    22    18    70    70    129    30    30    70    70  

  3
7

  
  5

2
  

  4
1

  
  2

7
  

  3
0

  
  3

0
  

  8
2

  

8
0

2
7

F



 40 
 6

0
 

 4
0

 

8027N
3

min. 24HB15 1m



 2
m

m
 

10

 m
in

 8
0

m
m

 

nr 17

            

V

30Nm

I II

III IV VI

8027F


